
Wie viel ist es insgesamt?

Aufgabe 1

1. 50 000
+
1 000
+
400
+
50
+
1=

2. 40 000
+
8 000
+
300
+
30
+
8=

3. 10 000
+
3 000
+
400
+
90
+
3=

4. 20 000
+
1 000
+
600
+
90
+
3 =

5. 60 000
+
6 000
+
700
+
40
+
3=

6. 60 000
+
8 000
+
700
+
20
+
7 =

7. 40 000
+
1 000
+
900
+
10
+
6=

8. 90 000
+
3 000
+
200
+
80
+
6 =

9. 60 000
+
9 000
+
700
+
80
+
7 =

10. 20 000
+
1 000
+
700
+
50
+
7 =

Aufgabe 2

1. 10 000
+
7 000
+
600
+
60
+
1 =

2. 50 000
+
3 000
+
300
+
70
+
6 =

3. 80 000
+
1 000
+
600
+
30
+
9 =

4. 50 000
+
9 000
+
500
+
30
+
1 =

5. 80 000
+
1 000
+
600
+
10
+
7 =

6. 60 000
+
6 000
+
800
+
10
+
3 =

7. 10 000
+
3 000
+
500
+
90
+
5 =

8. 50 000
+
7 000
+
200
+
20
+
1 =

9. 80 000
+
3 000
+
900
+
20
+
3 =

10. 90 000
+
5 000
+
600
+
20
+
7 =

Aufgabe 3

1. 40 000
+
3 000
+
100
+
70
+
5=

2. 90 000
+
3 000
+
800
+
60
+
7 =

3. 60 000
+
2 000
+
200
+
10
+
3 =

4. 30 000
+
3 000
+
300
+
20
+
7 =

5. 80 000
+
8 000
+
600
+
10
+
2 =

6. 10 000
+
6 000
+
100
+
90
+
6 =

7. 40 000
+
1 000
+
500
+
70
+
5=

8. 60 000
+
3 000
+
200
+
70
+
3 =

9. 90 000
+
9 000
+
200
+
80
+
3 =

10. 80 000
+
3 000
+
700
+
30
+
4=

Aufgabe 4

1. 70 000
+
2 000
+
100
+
50
+
4=

2. 40 000
+
2 000
+
600
+
30
+
2=

3. 30 000
+
9 000
+
700
+
40
+
6=

4. 10 000
+
1 000
+
200
+
20
+
4=

5. 40 000
+
6 000
+
600
+
10
+
8=

6. 10 000
+
1 000
+
200
+
30
+
6 =

7. 30 000
+
1 000
+
700
+
60
+
4=

8. 80 000
+
9 000
+
900
+
10
+
8 =

9. 90 000
+
2 000
+
100
+
30
+
4=

10. 60 000
+
3 000
+
700
+
30
+
2 =
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Wie viel ist es insgesamt?
| ANTWORTEN

Aufgabe 1

1. 50 000
+
1 000
+
400
+
50
+
1 =51 451

2. 40 000
+
8 000
+
300
+
30
+
8 =48 338

3. 10 000
+
3 000
+
400
+
90
+
3 =13 493

4. 20 000
+
1 000
+
600
+
90
+
3 =21 693

5. 60 000
+
6 000
+
700
+
40
+
3 =66 743

6. 60 000
+
8 000
+
700
+
20
+
7 =68 727

7. 40 000
+
1 000
+
900
+
10
+
6 =41 916

8. 90 000
+
3 000
+
200
+
80
+
6 =93 286

9. 60 000
+
9 000
+
700
+
80
+
7 =69 787

10. 20 000
+
1 000
+
700
+
50
+
7 =21 757

Aufgabe 2

1. 10 000
+
7 000
+
600
+
60
+
1 = 17 661

2. 50 000
+
3 000
+
300
+
70
+
6 = 53 376

3. 80 000
+
1 000
+
600
+
30
+
9 = 81 639

4. 50 000
+
9 000
+
500
+
30
+
1 = 59 531

5. 80 000
+
1 000
+
600
+
10
+
7 = 81 617

6. 60 000
+
6 000
+
800
+
10
+
3 = 66 813

7. 10 000
+
3 000
+
500
+
90
+
5 = 13 595

8. 50 000
+
7 000
+
200
+
20
+
1 = 57 221

9. 80 000
+
3 000
+
900
+
20
+
3 = 83 923

10. 90 000
+
5 000
+
600
+
20
+
7 = 95 627

Aufgabe 3

1. 40 000
+
3 000
+
100
+
70
+
5 =43 175

2. 90 000
+
3 000
+
800
+
60
+
7 =93 867

3. 60 000
+
2 000
+
200
+
10
+
3 =62 213

4. 30 000
+
3 000
+
300
+
20
+
7 =33 327

5. 80 000
+
8 000
+
600
+
10
+
2 =88 612

6. 10 000
+
6 000
+
100
+
90
+
6 =16 196

7. 40 000
+
1 000
+
500
+
70
+
5 =41 575

8. 60 000
+
3 000
+
200
+
70
+
3 =63 273

9. 90 000
+
9 000
+
200
+
80
+
3 =99 283

10. 80 000
+
3 000
+
700
+
30
+
4 =83 734

Aufgabe 4

1. 70 000
+
2 000
+
100
+
50
+
4 =72 154

2. 40 000
+
2 000
+
600
+
30
+
2 =42 632

3. 30 000
+
9 000
+
700
+
40
+
6 =39 746

4. 10 000
+
1 000
+
200
+
20
+
4 =11 224

5. 40 000
+
6 000
+
600
+
10
+
8 =46 618

6. 10 000
+
1 000
+
200
+
30
+
6 =11 236

7. 30 000
+
1 000
+
700
+
60
+
4 =31 764

8. 80 000
+
9 000
+
900
+
10
+
8 =89 918

9. 90 000
+
2 000
+
100
+
30
+
4 =92 134

10. 60 000
+
3 000
+
700
+
30
+
2 =63 732
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